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   

 
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 

              
               


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 
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 
 

 


                 

. 



              

               
           

 

 
 

08
 20232024 

  
 
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
 


 

 



                

. 

 
 



    F.H.KNIGHT 1921         

 
 

 


              
 


                

 



 


 

 
 
 

 
            X1, X2, X3,…,Xn

  P1, P2, P3,…, Pn1= ∑ 𝑝௜
௡
௜ୀଵ      

xx 
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 

              
 

 

E(VAN) =  −I଴+ [୉(େ୊భ)

(ଵା୧)భ
+

୉(େ୊మ)

(ଵା୧)మ
+ ⋯ +

୉(େ୊౤)

(ଵା୧)౤
] 

 E(VAN) > 0E(VAN) ≤

0                
VAN 

E(VAN)/I଴ 
            

100.00010 
 

 

 15.000 0.3 24.000 0.3 

 30 000 0.4 32.000 0.5 


 

12.000 0.3 10.000 0.2 

 

12

%11 

1 

 
 
 
 
 
 
 

 

15.0000.330.0000.412.0000.320.100 

15.000 0.3 4.500 

30.000 0.4 12.000 

12.000 0.3 3.600 

෍
 20.100 
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𝐸(𝑉𝐴𝑁) 

10%115,889 

2 

 
 
 
 
 
 

 

E(VAN) <E(VAN) 

VAN
 

 
             


 


      

 

              
 

𝛅𝟐(𝑪𝑭𝒊) = ∑ 𝒑𝒊(𝑪𝑭𝒊)
𝟐𝒏

𝒊ୀ𝟏  - [𝐄(𝑪𝑭𝒊)]𝟐 

𝛅𝟐(𝑽𝑨𝑵) = ∑ 𝛅𝟐(𝑪𝑭𝒊)
𝟐𝒏

𝒊ୀ𝟏  - [(𝟏 + 𝑲𝟎)ି𝐧]𝟐 

𝜹 (𝑽𝑨𝑵) = ඥ𝛅𝟐(𝑽𝑨𝑵) = ඥ𝑽(𝑽𝑨𝑵) 

24.000 0.3 7.200 

32.000 0.5 16.000 

10.000 0.2 2.000 

෍
 25.200 
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             


 
 

(𝑋, 𝑌)(𝑋)
(𝑌) 

E(VANX) > 𝐸(𝑉𝐴𝑁Y)(X)(Y) 
𝛿𝑥 (𝑉𝐴𝑁)  ≤ 𝛿𝑦(𝑉𝐴𝑁)(𝑋)(𝑌) 

(X)(Y) 
E(VANX) ≥ E(VANY)    (X)      (Y)

 
𝛿𝑥 (𝑉𝐴𝑁)  < 𝛿𝑦(𝑉𝐴𝑁)(X)(Y) 

 
 

 
              

 



              
             

           

. 


 

C



 

1I=2002 

10 

E(VAN)V(VAN) (VAN) 

 
 
 



                                                                                         6/ 7                                                             

 

 

0.4 100  0.3 120 

0.3 120  0.4 140 

0.3 140  0.3 160 

 

 
1  E(VAN) 

𝑪𝑭𝑷𝑷(𝑷𝑪𝑭𝑷𝑷(𝑷

12
0 

0
.
3

36 14.
400 

4.320 1
0
0 

0
.
4 

40 10.00
0 

4.000 

14
0 

0
.
4

56 19.
600 

7.840 1
2
0 

0
.
3 

36 14.40
0 

4.320 

16
0 

0
.
3

48 25.
600 

7.680 1
4
0 

0
.
3 

42 19.60
0 

5.880 

෍ 140  19.840   118  14.200 

E(C1)= 140       E(C2)= 118 

E(VAN) = (1,10)-1 (140) + (1,10-2) (118) -200 = 24,80  
2  

δଶ(𝐶𝐹௜) = ∑ 𝑝௜(𝐶𝐹௜)ଶ௡
௜ୀଵ  - [E(𝐶𝐹௜)]ଶ 

δଶ(𝐶𝐹ଵ) =19.840-(140)ଶ = 240 

δଶ(𝐶𝐹ଶ) =14.200-(118)ଶ = 276 
δଶ(𝑉𝐴𝑁) = ∑ δଶ(𝐶𝐹௜)ଶ௡

௜ୀଵ  - [(1 + 𝐾଴)ି୬]ଶ 
δଶ(𝑉𝐴𝑁)=V(VAN) = (1,10)-2 240 + (1,10)-4 276 = 426,44 

𝛿 (𝑉𝐴𝑁) = ඥδଶ(𝑉𝐴𝑁) 

𝛿(𝑉𝐴𝑁) = √426,44 =20,65 

0 1 2 

200 CF1 CF2 P(CF2) P(CF1) 
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V(VAN) = 426,44 
 
 
 
 
 
 
 
 


